Integrated 3 w/ MA                      Name_________________________________                                                     (Sections 1.9,3.1,3.2)
1.  Given that
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a.) Find 
[image: image2.wmf]1

()

fx

-

.

b.) Verify that both 
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are equal to the identity function.   
2.  Sketch the graph.  State the domain, range, asymptote, and the x and y intercepts (if they exist).   

a.) 
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             table:   (use at least 3 points)


        graph:  


                          


                                                                                      *on your graphs be sure to provide the scale, plot your points,                                   

                                                                                                         and label the asymptote and the x and y intercepts (if they exist).  

             domain:  ____________________  


       range:  ______________________

             asymptote:  _____________________


       x intercept:  ____________________   (if it does not exist, write “none”)


       y intercept:  ____________________  (if it does not exist, write “none”)

b.)  
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             table:   (use at least 3 points)


        graph:  


                          


                                                                                      *on your graphs be sure to provide the scale, plot your points,                                   

                                                                                                         and label the asymptote and the x and y intercepts (if they exist).  

             domain:  ____________________  


       range:  ______________________

             asymptote:  _____________________


       x intercept:  ____________________   (if it does not exist, write “none”)


       y intercept:  ____________________  (if it does not exist, write “none”)

c.)  
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              table:   (use at least 3 points)


        graph:  




                                                                                      *on your graphs be sure to provide the scale, plot your points,                                   

                                                                                                         and label the asymptote and the x and y intercepts (if they exist).  

             domain:  ____________________  


       range:  ______________________

             asymptote:  _____________________


       x intercept:  ____________________   (if it does not exist, write “none”)


       y intercept:  ____________________  (if it does not exist, write “none”)

3.  Change to log form:


a.)  
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b.)  
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4.  Change to exponential form:

      a.)  
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b.)  
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5.  Solve for x.  
a.)  
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b.)  
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c.)  
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d.)  
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e.)  
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f.)  
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